Database Systems, CSCI 4380-01
Example

1 Exercise

You are given the following information and statistics. Find the expected cost of the query plan

below.
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Fill in the information below to help solve this problem:

1. How many tuples fit in a page for a relation with 2 attributes, 3 attributes and 6 attributes?
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N 4. How many tuples are expected after the selection: SELECT_{R.A=20 AND R.B>=1100 AND R.B<41007
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5. What is the size of relation after projection over the selection above (in terms of number of
pages)?
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8. What is the size of relation after projection over the join (in terms of number of pages)?
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10. What is the total expected cost of this query plan?
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